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a) Name the following:

1) Two Omnivorous animals:  Man, Crow, Bear

2) Two insects that walk by means of their legs: Cockroaches, Spider, beetles
3) Two animals that breath through lungs: Frog, Man

4) Two animals that have slender legs:  Deer, leopard, horse

5) Two animals that swallow their prey as a whole: snake, crocodile

B) Match the following:

COLUMN A COLUMN B
1. Reptiles c. Creep
2.Turtles e. Paddles
3. Penguins a. Flippers
4. Frog b. Insectivores
5. Cow d. Chewing animals

c) Briefly answer the questions:
1) Why is the blood of insects not red in colour?

Ans: The blood of the insects do not have an oxygen carrier called
haemoglobin. This is why their blood is not red in colour.

2) What is proboscis?

Ans: Proboscis is along pointed sucking tube used for feeding or sucking.



3) What are insectivorous animals?

Ans: Animals that feed on insects are called Insectivorous animals. E.g. Frog,
spider etc.

4) What type of teeth does herbivores and carnivores have?
Ans: a) Herbivores: Sharp front teeth to cut grass, strong broad teeth for
Chewing.
b) Carnivores: Sharp, pointed teeth for tearing flesh, strong, grinding
teeth to crush bones.
5) What is migration? Why do birds migrate?

Ans: The seasonal movement of animals in masses from one region to another
and their return to the same place is known as migration.

Birds migrate when food becomes scarce in winter and to escape from the cold.



